UP Board Class 10 Maths Important Questions Chapter 8
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SHITLRIHD TY
s 1.
TS sin 3A = cos (A - 26°) B, &1 3A Tdh I HIUT g o A T T J1d Hiford |
Bd:
& T &-

sin 3A =cos (A - 26°)

sin 3A = cos (90° - 3A)

» €0S (90° - 3A) = cos (A - 26°)

i 90° - 3A 3R A - 26° SHI € TATH PV E,
~90°-3A=A-26°

gl 4A =90° + 26° = 116°

_ 116° _ 590
A=2-=29

Uy 2.

cot 85° + cos 75° B 0° 3R 45° & §idl & HIVN &b BT SUTdl & Ue| H i Biford |
Bal:

cot 85°. cos 75°

= cot (90° - 5°) + cos (90° - 15°)

=tan 5° +sin 15°

Yy 3.

sin 25° cos 65° + cos 25° sin 65° + sin? 25° + sin2 65° &1 A JTd P |

Bdl:

sin 25° cos 65° + cos 25° . sin 65° + sin? 25° + sin? 65°

= sin (90° - 65°) . cos 65° + cos(90° - 65°) . sin 65° + sin? (90° - 65°) + sin? 65°
= oS 65° . cos 65° + sin 65° sin 65° + cos? 65° + sin? 65°

= cos? 65° + sin? 65° + cos? 65° + sin? 65°

=1+1=2



T 4.

Tfe LA <90° TG 2B < 90° 3R sin A = cos B 8l I g PR A+ B=90°
Bl

= sinA=cos B

= sin A =sin (90° - B)

= A=90°-B

= A + B = 90° (3faf¥re)

Uy 5.

Tfe sin 6 = cos 6 Tl 6 BT HM J1d HIfcA |
Bal:

=>sinB=cos B

= sin B = sin (90° - B)

=>0=90°-6

= 26 =90°

»0=2 =45°IW

U¥ 6.

4 sin 18° sec 72° &1 A fafau|

Bl

4 sin 18° sec 72° =4 sin 18° sec (90° - 18°)

=4sin 18°. cosec 18°
1

=4 sin 18° x T =4

Uy 7.

sin B cos (90° - B) + cos 6 sin (90° - B) + 1 BT HIH |?I|@QI
B

sin®sinB+cosBcosO+1
=5in20 + cos26 + 1
=1+1=2

TH 8.
sin2 60° + cos? 30° &1 A fofau|
N

(2)'+(2)"=1 02
_6_3

2
4 2



A 9.

cos2 50° + cos2 40° &I HH J1d Piod |
Bel

cos? 50° + cos? (90° - 50°) |

= cos? 50° + sin? 50°

=1

U410
v/ 1—sin? 40°
cos 40°
Bal:
Vcos?40° _ cos40° _

cos 40° cos40°

DT Waq T faRau|

Y11,

3 sin 60° - 4 sin3 60° T A JTd BT
Bd:

3sin 60° - 4 sin3 60°

U4 12.
sin 6. cosec 6 - cos B sec GWIIF[SHHWI
Bd:

sin©.cosecB-cosO.secHd
1

. 1 _
=sinB. 5 -c0sB. ——5=1-1
=0

UH 13.

(1 - sin? B) sec? 6 &1 A fIfAT|
Bd:

(1 -sin?0) sec? B
=cos?0.sec?0

= cos2 1 _

Cos“ 0. —5 =1

Uy 14.

L pramfefau

v cosec?0—1



Udg 15

‘;’jz x cot O x tan 6 % AF AT

Bd:

U4 16.

2 sin2 A (1 + cot? A) &1 AT fefgu|
Bl

2 sin? A x cosec? A

=2sin?Ax —— =2
sin® A

A 17.

ﬁﬁw&l?ﬂﬁ&lﬂqlﬁtan Al sec A UGl H farlau|
Bl

1 +tan? A=sec? A

tan? A=sec?A-1

(tan A)?2 = sec? A -1

~tanA=++/sec2 A —1

[RI D10 A & foTT -ve I &1 BT 1)
sufqtan A= v/sec2 A — 1

CTYRIHD UH

a9 1.
TH JADIU Y ABC T, FRIHT 10T B THDIUN §, TG tan A = 1 T FATUd fbTod 2 sin A cos A =

1
B
AABC H
_ BC _
tan A = E =1

3{YTq BC = AB



HMTAB = BC = K
O8I R K T 4 ST |
UIRYRIRY U8 ¥

(AC)? = (AB)* + (BC)?

= (K)? + K2
(AC)? = 2K2
= AC = K\2

. cinA=BC _ K _ 1
3{d: sin A AC AR

- AB_ K _ 1

GﬁTcosA— AC T Ky 3
. H — L L :2:
~2sinAcosA 2(&)(&) 5 1.
o fob 3ruféra 7 g
Uy 2.

AOPO ¥, fSTIaT PI0T P HBIV B, OP = 7 cm. TR 00 - PQ = 1 cm. ( SRIY 3B f), sin Q 3R cos
Q & HH J1d DI

Bl
o1 1 3l § 0Q? = OP? + PQ?

dfd fear g

0Q-PO =1

~0Q=1+PQ

AT (1 + 0Q)? = OP2 + PQ?
3YTq 1 + PQ2 + 2PQ = OP2 + PO?
YT 1 + 2PQ = (7)2

1+2PQ =49



~PQ=24cm

AMROQ=1+PQ=1+24=25cm
. OP 7
San=w=2—5

PQ 24
3R cos Q = 00 — 35
U 3.
gfd tan A = %Eﬁ,?ﬁsecAm -sin A) (sec A + tan A)WIIFTSHHWI
Bl
AMT fh ABC T THS U1 Y &, Forad ®1u1 B & 0T g |
(A D el

3R = AB, T = BC AUT Ui = AC AT T &, tan A= 2



Uy 4.
APQR ¥, fSTah1 ®I01 Q THeI0 g | < Tt 3Mpfd H, PQ = 3cm 3R PR =6 cm 81 2QPR 3R 2PRQ
Id i |



Bd:
fargeng
PQ=3cm3ﬁTPR=6cm

ERINE]

PQ .
P—R—st

3Hd: £PRQ = 30°
3R 4R QPR = 180° - (90° + 30°) = 60°

UH 5.

6 tan 20° tan 70° - 3 sec? 45° &I {F J1d Do
Bcl

6 tan 20° tan 70° - 3 sec? 45°

=6 tan 20° . tan (90° - 20°)- 3 sec? 45°

=6 tan 20° . cot 20° - 3 (v2)?

“tan B xcotB =1

=6-6=0

Uy 6.

sin 30° . cos2 30° + tan 45° . cost 60° WWWWI
ed:

sin 30° . cos2 30° + tan 45° . cos 60°

Y 7.
U%sin(A-B)=%H?-I'rcos(A+B):7,0°<A+BS90°,A>B,?ﬁA3ﬁ?BWWI
B

i

sin(A-B)= 1

~ sin (A - B) = sin 30°



= A-B=30°
sﬁr?l?_s’ﬁcos (A+ B):%

~ cos (A + B) =cos 60°

= A+B=60°.... (i)

FHIHRT (i) TUT (i) DI WS W
A-B+A+B=30°+60°=90°
2A = 90°

A = 45°
THIHRT (i) ¥ B = 15°

Uy 8.
(sec? 30° + cosec? 45°) (2 cos 60° + sin 90° + tan 45°) &1 A JTd HIfoT|
Bcl.

(sec? 30° + cosec? 45°) (2 cos 60° + sin 90° + tan 45°)

UH 9.

sec? 65° - cot? 25° - 2 sin 30° cos 60° T HH JTd HifTT|
Bl

sec? 65° - cot? 25° - 2 sin 30° cos 60°

gl 25° = 90° - 65° HA W

cot (25°) = cot (90° - 65°)

cot 25° =tan 65°

[+ cot (90° - B) = tan 0]

3§ TSTPH Y UHR 8l ST

(sec? 65° - tan? 65°) - 2 sin 30° cos 60°

} 1,1
=T-2x5 %3

[ sec?B-tan?0=1]
_q.1

=13

1
2



U 10.

sin17° cos 67° sin 15° R I a-ﬂ-i\l:rq
5cos73O + 2sin23° - 6c0s750 il !

Bal:

sin 17° =sin (90° - 73°)

gl sin 17° =cos 73° ... (i)

Cos 67° = cos (90° - 23°)

gl cos 67° =sin 23° ... (ii)

sin 15° =sin (90° - 75°)

gl sin 15° = cos 75° ..... (iii)

FHIBHRI (i), (i) 9 (iii) T sin 17°, cos 67° d sin 15° & A Hd ol J I8 R

e
=5(M+2(1)-6(1)

=5+2-6

=7-6

=1

U4 11.

%W%secAm -sinA) (secA+tan A) =1
Bcl.

L.H.S.=sec A(1-sinA) (sec A+tanA)

UH12.
e sin B = % dl (tan © + cot )2 &1 AM forfaT|



U4 13.

e sin A = % ﬁ,ﬁcosAﬁ?cosecAﬂlﬁWl

Bl

T & ABC 1S FHBIU By § forgH 10 B R EHBIU &1 = sin A= 2

HMHETBC = 3k
AC = 5k

UISYTIRY U 9

AC? = AB2 + BC?

T (5k2) = (AB)? + (3k)?
T 25k? = AB? + 9k?
T 25k? - 9k? = AB?

T 16k2 = AB2



gl AB = 4k

U 14.

tca‘tlgg HT A ATd HIT|

Bcl

tan 65°

BH SFA & fob cot A = tan (90° - A)
3{d: cot 25° = tan (90° - 25°)

=tan 65°
3 tan 65° _ tan65°

> cot 25° tan 65°
=1

UH 15.

sin 35° cos 55° + cot 35° sin 55° EF[HFTSHHWI
Bal:

sin 35° cos 55° + cot 35° sin 55°

=sin 35° x cos (90° - 35°) + cos 35° x sin (90° - 35°)
[+ cos (90°- B8) = sin B8]

[ sin (90°- 6) = cos 6]

= sin 35° x sin 35° + cos 35° xx cos 35°

=sin? 35° + cos? 35° = 1

% 16,

e sin 6= 1 &, - flfjg O @101 71 BRI
Bl

e e e = 128

sin 6



ﬁsin@zé?@e{tﬁ

UH17.

cos? 12° + cos? 78° &I HM JTd HioT|

Bl

cos? 12° + cos? 78°

= cos? 12° + {cos (90° - 12°)}2

= cos? 12° + sin? 12° [ cos (90° - B) = sin 0]
=1

UH 18.

ﬁ'@'@%tan 36° tan 17° tan 54° tan 730 =1
Bl

tan 36° tan 17° tan 54° tan 73°

=tan 36° tan 17° tan (90° - 36°) tan (90° - 17°)
=tan 36°.tan 17° cot 36° cot 17°

=tan 36°.cot 36°.tan 17°.cot 17°

=1.1=1

U 19.

ﬁ"@ﬂ%ﬂ% sin 28° cos 62° + cos 28° sin 62° = 1.
Bl

sin 28° cos 62° + cos 28° sin 62°

= sin 28° x cos (90° - 28°) + cos 28° x sin (90° - 28°)
[+ cos (90° - B) = sin B dYT sin (90° - B) = cos 6]
=sin 28°.sin 28° + cos 28° . cos 28°

= sin? 28° + cos? 28°

=1

s 20.
$an67_ o1 oy JTd IoTT |

cot 23°

Bd.




tan 67°
cot 23°

§H S 8 b cot A = tan (90° - A)
3{d: cot 23° = tan (90° - 23°) = tan 67°
3 tan 67° tan 67° = 1

Y cot 23° tan 67°

UH 21.

A 3 cot A = 4,/ 112 a7 FHforw)
Bal:

w3cotA=4 . cotA= % Eﬂﬁlﬁﬁ%%






